Unit 5 Review (Grade 7)
Answer Section

MULTIPLE CHOICE

	1.	ANS:	C	

	2.	ANS:	A	

	3.	ANS:	B	


	4.	ANS:	B	

	5.	ANS:	D	

	6.	ANS:	A	

	7.	ANS:	C	

	8.	ANS:	D	

	9.	ANS:	B	

	10.	ANS:	D	

	11.	ANS:	A	

	12.	ANS:	C	

	13.	ANS:	A	


	14.	ANS:	C	

	15.	ANS:	A	

SHORT ANSWER

	16.	ANS:	
	a)
	A: [image: ]
B: [image: ]

	b)
	[image: ]  [image: ] = [image: ]





	17.	ANS:	
Answers may vary. For example:
[image: ] = [image: ]  [image: ] or [image: ] = [image: ]  [image: ]


	18.	ANS:	
6[image: ]


PROBLEM

	19.	ANS:	
[image: ]

	20.	ANS:	
[image: ] = [image: ]


Unit 6 Review
Answer Section

MULTIPLE CHOICE

	1.	ANS:	B	

	2.	ANS:	C	

	3.	ANS:	D	

	4.	ANS:	A	

	5.	ANS:	A	

	6.	ANS:	B	

	7.	ANS:	C	

	8.	ANS:	C	

	9.	ANS:	A	


	10.	ANS:	A	


	11.	ANS:	C	

	12.	ANS:	B	

	13.	ANS:	B	

	14.	ANS:	D	


	15.	ANS:	C	



SHORT ANSWER

	16.	ANS:	
5



	17.	ANS:	
The unknown mass is 13 g.


	18.	ANS:	
x = 5

	
           19.	    ANS:	
[image: ]


PROBLEM

	20.	ANS:	
Let x represent the side length of each shape.
[image: ]
The side length of each shape is 4 cm.
The perimeter of triangle is 12 cm and that of the square is 16 cm.

	21.	ANS:	
Let x represent the number of people.
[image: ]
15 people attended the function.



Unit 7 Review
Answer Section

MULTIPLE CHOICE

	1.	ANS:	D	

	2.	ANS:	C	

	3.	ANS:	C	

	4.	ANS:	A	

	5.	ANS:	A	


	6.	ANS:	D	

	7.	ANS:	B	

	8.	ANS:	B	

	9.	ANS:	C	

	10.	ANS:	D	

	11.	ANS:	A	

	12.	ANS:	B	

	13.	ANS:	B	

	14.	ANS:	A	

	15.	ANS:	D	


SHORT ANSWER

	16.	ANS:	
Justin’s chance of winning is 20%.


	17.	ANS:	
Answers may vary. For example:
A spinner that has 12 equal sectors, with 2 sectors in red, 3 sectors in yellow, and 7 sectors in green



	18.	ANS:	
The probability is [image: ].


	19.	ANS:	
The probability is [image: ].


PROBLEM

	20.	ANS:	
	a)
	[image: ]
The probability that the student has a dog is [image: ].

	b)
	Let x be the number of students that might own a dog. 
[image: ]
Among the 200 students, 80 might have a dog.




	21.	ANS:	
Answers may vary. For example:
List all possible outcomes: HHH, HHT, HTH, HTT, THH, THT, TTH, TTT
There are 8 possible outcomes. 
Three outcomes show 1 head and 2 tails.
The probability of getting a head and 2 tails is [image: ].


	22.	ANS:	
	a)
	Make a table like this one to list all possible sums.



	+
	1
	2
	3
	4

	1
	2
	3
	4
	5

	2
	3
	4
	5
	6

	3
	4
	5
	6
	7

	4
	5
	6
	7
	8



	b)
	The probability of a sum greater than 5 is: [image: ]
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